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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-5 0
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P3-5

BfE) | GEBERTIC (7)) | EBRE (EA/#K) | EREE (B/R) | X8 EFE

08:35 278 150.0 2.583 5| FHA@08:35 KENFEF (RAfEEIEE)
09:35 278 150. 0 2.583 | FiHe09:35 RHEIEF (KREERE)
10:35 278 150.0 2.583 5| FEAe10:35 KEIEFE CGRAFEESE)
11:30 278 150. 0 2.583 E|  FaHA@11:30 KEFEF (REBMERE)
12:25 278 150.0 2.583 5| FHfe12:25 KEEF (KAERESE)
13:20 278 150. 0 2.583 E(  FiHRe13:20 KREFEF CGRAMEREEE)
14:15 278 150. 0 2.583 E|  FiHRe14:15 KREIEF (GRFAEREIEE
15:15 278 150.0 2.583 | FHAe15:15 KHEF (KAERESE)
16:30 278 150.0 2. 583 5| FEAe16:30 KEFEFE CGRAMFESE)
2it] 2502.0 (97%) 1350.0 3203 %EC: 2080.0, PH: 6.0
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P3-5

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R
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15:05 273 150.0 2.583 (£ =| {Ri%@15:05 Bz (REAERSE)
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24t 2730.0 (100%) 1500. 0 EHKEC: 2080.0, PH: 6.0
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P3-5

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e

08:50 273 150. 0 2.583 F| {Ri%e08:50 B (FEAHERESE)
09:50 273 150.0 2.583 |Z=| {Ri&@09:50 Bz (KREAEHSE)
10:50 273 150.0 2.583 =| 1Ri%@10:50 Bz (RAEBSE)
11:50 273 150.0 2.583 FA| 1Bzi%@11:50 B3h (RAB{ERSE)
13:50 273 150.0 2.583 FA| {Ri%@13:50 Bz (GkAEEE)
2it]1365.0 (5%) 750.0 32 KEC: 2080.0, PH: 6.0

#H[EKRECE (2007.0 vs 4393.0) i d 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=64 (2025-06-01)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-5

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

06:25 278 150.0 2. 583 FA| 1B2i%@06:25 Bzh (kAB{ERESE)
07:25 278 150.0 2.583 FA| 1BRi%@07:25 B3h (RAB{EREE)
08:25 278 150.0 2.583 FA| {Ri%@08:25 Bz (RAIEEEE)
09:25 278 150.0 2.583 FA| 1BRi%@09:25 Bzh (kAR
10:45 278 150.0 2.583 FA| 1BRi%@10:45 B3h (RABERESE)
12:20 278 150. 0 2.583 PH| {Ri%e12:20 Bz (KRAEFERSE)
Bit]1668.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0

#H[EKECE (2087.0 vs 4660.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=63 (2025-05-31)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bylnit @D66 01:55: ET=1520 Fg=1950.0 Ro=400.0

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 19 20 21 22 23

B | B3 [ BA | BB | BA [ B | BA | BA [ BPH | BA | BA [ PF | BA [ FE | M | @ [ M | PA M [ BA [ BH | A | FA

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400 -

B | B [ BH [ BA [ BA [ BA | BA | BA | BA | BH | BH | B | BH | K[| BA [ B |/e|/ | E=| B | B |$=

300

200 -

100 A

1.0 A

]
ByWoFv :@D66 01:95: ET=799 Fg=900.0 Ro=86.0

1
) o——p—0—0—

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.8

B | B [ BH [ BA [ BA [ BA | BA | BA | BA | BH | BH | B | BH | K[| BA [ B |/e|/ | E=| B | B |$=

0.6

0.4+

0.2~

808 3

—_—
[ ] | _obs
—@— PPFD obs

1.0 -

0.5

” ﬂ% o VPD

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



49.

49.

48.

48.

47.

47.

46.

36

35

35

34

34

33

50 -

48 -

46

44

42 -
—Q—

40 -

::

m=585,m FV0=0

T T T T
500 600 700 800 900

5 —o—

585 560 565
m=945,n FV0=0

50 A —0—

49 -

48

47 -

945 950 965
m=540,n FV0=0

.0+

.94

.0+

.91

.0+

.54

-— MW

i
B
i

540 545 550

m=465, FV0=0

45 ~

44 -

43 A

42

41 -

T T T
465 470 475

m=635,m FV0=0

49.5 -

49.0 A

48.5 A

48. 0 -

47.5 -

47.0 A

T
635 640 645

36

34

32 -

30 A

560 660 760 860
m=585,n FV0=0

36. 5

36. 0

35.5 -

35.0 A

34.5 -

-o— MW

585 590 595

49.

49.

48.

48.

47.

47.

32.

32.

31.

31.

30.

30.

36.

36.

35.

35.

m=500, FVO0=0
48 - ME
47 -
46 -
45 -
44 4
500 505 510
m=695,m FV0=0
- ME
5 -
0 -
5 -
0 -
5 -
0 -
695 700 705
m=465,m FV0=0
54 —@— MW
o -
5 -
0 -
5 -
0 -
465 470 475
m=635,m FV0=0

-— MW

635 640 645

m=540, FV0=0
—o— ME
49
48 -
47
46 - T T T
540 545 550
m=825,m FV0=0
50
—o— ME
49 -
48
47
46 -
T T T
825 830 835
m=500,m FV0=0
30 17 _g— MW
34
33
32
500 505 510
m=695,m FV0=0
37.0
—— MW
36.5 -
36. 0 -
35.5 -
35.0 -
695 700 705



m=825, FV0=0

—— MW
36.5 -
36.0 -
35. 5 -
35.0 -
T T T
825 830 835

m=945, FV0=0
37.0 A - MW
36. 5
36. 0
35.5 4
T T T
945 950 955




hour

[ee]

o O O o

100

80

- 60

- 40

§_

“

By

%
6\
%
7
e
BN
%,

%

\ R
N N
4
Q\z\ %7\

2
N
L

&

§

%,
&

W ’@(26_.?
%

%

3,



P3-5

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

06:30 278 150.0 2.583 FA| 1E21%@06:30 B3zh (FkAEREE)
07:20 278 150.0 2.583 FA| 1Ri%@07:20 Bz (REERSE)
08:10 278 150. 0 2.583 FA| 1E2i%@08:10 Bz (kAHERESE)
09:15 278 150.0 2.583 PH| 1{Ri%@09:15 Bz (RAEES)
10:30 278 150.0 2.583 FA| 1BRi%@10:30 B3h (KRAMERESE)
11:25 278 150.0 2.583 FA| {Ri%@11:25 Bz CGRAERESE)
12:10 278 150.0 2.583 FE| 1Ri&@12:10 B (RS
12:55 278 150.0 2.583 FA| 1Ri%e12:55 B (KAHERESE)
13:45 278 150.0 2.583 FA| {Ri%@13:45 Bz (CGRAERE)
15:05 278 150.0 2.583 FE| 1Ri&@15:05 B (RAERSE)
16:35 278 150.0 2.583 FA| {Ri%@16:35 Bz (GkAEEE)
23t+]3058.0 (117%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

#HERECE (2220.0 vs 4703.0) d5



P3-5_0, Day=62 (2025-05-30)

L I T e v e e e e  rare L 3000

VI, VPRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2200

100 A 735
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Warning: lcol [FVI',| "FVO’'] missing
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50 A

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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